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51 BRI mamh| #2 | B8 # we | n | gE | RE | mm |ees | AT e
R 19 15 9 15 9 13 15 2 3 100
55, NERF LR 8 7 6 6 7 6 4 1 0 45
[2E B %5 3/4%EFE]
HHER (A 1,596 1,260 756 1,260 756 1,092 1,260 168 252 8,400 10 8410
HER(EFEM) 2,050 1,619 971 1,619 971 1,403 1,619 216 324 10,792 18 10,810
RER 4503 3,555 2,133 3,555 2,133 3,081 3,555 474 7M1 23,700 10 23,710

& 70 61 53 53 61 53 35 9 0 395 15 410
A HEEBER 1 1 1 1 1 1 1 1 1 9 2 1
EEE-HEEDFSI 21 16 10 16 10 14 16 2 3 108 8 116
BEE-EHENURTVY 21 16 10 16 10 14 16 2 3 108 8 116
e HEEH RFTRE) i 19 °
MESSE 0 25 25
X ER 39 31 19 31 19 27 31 4 6 207 5 212
X B4 E 32 25 15 25 15 22 25 3 5 167 3 170
BT X It 8 84 66 40 66 40 57 66 9 13 441 19 460
BIXEER 21 16 10 16 10 14 16 2 3 108 5 113
EFR 2 2 2 2 2 2 2 2 2 18 2 20
REFALEEEEFDESEA 77 60 36 60 36 52 60 8 12 401 12 413
HEEILEEEEDEIEA 77 60 36 60 36 52 60 8 12 401 12 413
HAEEEOSHMSE (HFA) 1,412 1,115 669 1,115 669 966 1,115 149 223 7,433 17 7,450
HERDEAFELCEBDSEN (HER- 1,412 1,115 669 1,115 669 966 1,115 149 223 7,433 17 7,450
Rt AT 1,412 1,115 669 1,115 669 966 1,115 149 223 7,433 17 7,450
AL -(HFR-REER) 1,592 1,257 754 1,257 754 1,089 1,257 168 251 8,379 31 8410
RADLA=(NER) 77 67 58 58 67 58 38 10 0 433 7 440
oSV EEOFIREHFR(EHE-REE 3,984 3,146 1,887 3,146 1,887 2,726 3,146 419 629 20,970 30 21,000
FUSAVEEOFE (HHER-RER-NEH 1,410 1,113 668 1,113 668 965 1,113 148 223 7,421 29 7,450
FUSAVEAEOHRERICONT (HER-H 1,296 1,023 614 1,023 614 887 1,023 136 205 6,821 29 6,850
RERRIRE AHE 310 245 147 245 147 212 245 33 49 1,633 7 1,640
EEDHREVD (HHR-RER-THER) 1,389 1,097 658 1,097 658 950 1,097 146 219 7311 19 7,330
FhEIRH AT 1,389 1,097 658 1,097 658 950 1,097 146 219 7311 19 7,330
EHRE 1,252 989 593 989 593 857 989 132 198 6,592 18 6,610
R ERHE 1,252 989 593 989 593 857 989 132 198 6,592 18 6,610
AEBRENERMSAHE 1,594 1,259 755 1,259 755 1,091 1,259 168 252 8,392 18 8410
MERFHTR 19 15 9 15 9 13 15 2 3 100 5 105
MEEFEOYTIFY—R 19 15 9 15 9 13 15 2 3 100 5 105
FRZIEEH 19 15 9 15 9 13 15 2 3 100 5 105
EHE - PNERAPEY=217 /L (BAKEA 1 1 1 1 1 1 1 1 1 9 1 10
EEE-HEERPE~Y=17I/I (EEE -HZ 18 13 13 15 12 13 1 2 3 100 5 105




